MATHEMATICS
( TrfuTa )

(211)
Time : 2% Hours | [ Maximum Marks : 85
{ o : 2l w2 ] [ qories : 85
1
| Note : (1) Question Numbers (1 - 10) are Multiple Choice Questions. Each question carries
! ‘ one mark. For each question, four alternative choices A, B, C and D are provided,
| of which only one is correct. You have to select the correct alternative and indicate
2 it in the answer-book provided to you by writing (A), (B), (C) or (D) as the case
| i may be. Q.No. 11 to 15 also carry one mark each.
| (2) Question Numbers (16 - 25) carry 2 marks each.
\ (3) Question Numbers (26 - 33) carry 4 marks each.
(4) Question Numbers (34 - 36) carry 6 marks each.
| (5) All questions are compulsory.
fEer: (1) T EEA (1-10) TF Fgfasmedl T (Multiple Choice Questions) HELEREERED
st 1 1 9% T § 9% f9e9 A, B, C 71 D A A ¥, o & el T 9 T
ST T FereheT T & A S e o St T Sl I 7 (A), (B), (C) I (D)
Seft ot frearfir @), Forge ST $1 WA WEA 11 9 15  TF F F T
1
(2) q¥ TEAT (16 - 25) T TS T & 2 3 ¢
£
3) T ST (26 - 33) T TAF T F 4 3Fh T

4)

®)

T GE (34 - 36) TF TOF T F 6 Ak T

[oft g9 IIfaE B
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o i 0.3125 can be written in the form % ask 1

'0.31253%2%"@13%?9%@1%@1@%%:

A & B 2 @ il D =
(8 3 Gl Gh o
1L
2. If 3*+3*~2=30, then the value of x is :
Afe 37 +37~2=30, A x FTAM ¢ :
A) 3 B) 1 © -1 D) -3
3. Which of the following is not a polynomial ? 1
PPN TR T § 2
(A) =] (Bt by (=)
1 ) =
(& 7 — = (D) 3 x54+2xL5
4. Monthly expenditure of a family is 60% of the monthly income. If the family saves 1

% 6,000 per month, the monthly income of the family is :

Ueh YRAR F1 A9 3, 361 7GF 9 $160% 1 I 98 TRaR 99 T 6,000 51 =4
FA1 8, Tl 39 INER & 9 3 § -

“(A) ¥ 10,000 (B) % 12,000 (© = 15000 (D) < 18,000
5. In a triangle, the point of intersection of perpendicular bisectors is called : 1
(A) Incentre (B) Orthocentre (C) Circumcentre (D) Centroid
T IS & e GaigaSishl &1 gfasses o Feam ¢ :
(A) T<:F=% (B) wan= (C) uRe= (D) ==
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Which of the following is true for a cyclic quadrilateral ?
(A) One of the opposite angles is always acute

(B)  One of the opposite angles is always obtuse

(C) Opposite angles are supplementary

(D) Opposite angles are complementary
THE AN F e T I I s-Ti s T ® ?
(A) F9HE 30 5 2 TS 98 g4 B9 o6 B

(B) F=IE vl 5 4 U Fad A4S HI AT £
(C) F& IV SRS e[ &
(D) =@ U F e 2 |

Which of the following statements is true for a AABC ?
fodl Biqe ABCH fee e @ - g £ 2

(A) AB+BC > AC (B) AB+BC < AC

(C) AB+BC=AC (D) AB+BC+AC=0

The parallel sides of a trapezium are 20 cm and 16 cm. If the distance between the

parallel sides is 12 cm, the area of the trapezium is :
(A) 206 cm? (B) 216 cm?

(C) 226 cm? (D) 236 cm?

TF FHAS Hl FHIRR Y18 20 391, 05 16 3.9, ¥1 afe gur IS & &9 H gd 12 9

T, 1 T 1 49 § -
(A) 206 3 ¥ HIRX (B) 216 a7 § HiX
(C) 226 &7 ¥ HiR (D) 236 3 ¥t WX

w
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10.

13l

12

8.

In the figure given below, AABC is right angled at B. Which of the following is true ? i
A o, AABC ¥ &9 B GHHI & | SrffEd § 9 FA-9 T © 2

AT2 cm/aB

A tC—-S— B 1:(1‘-1E & C-—P— D tC—-5—

(A) cotC=73 (B) cotC=75 (€) cotC=7¢ (D) cotC=75

The value of (1—sec?A) cot?A is : 1
(1—sec?A) cot?A T HM H4

U B O © 1 ' (D) 2

Write, 120 in terms of powers of prime numbers. 1
120 i AYRH et % A % w9 H fdfE)

Write 0.0065 as a percent. 1

0.0065 1 fawa & €9 7 fafau!

In the figure given below, O is the centre of the circle. If PBT is a tangent to the circle at 1
point B, find the value of x.

ﬁﬁﬁgﬁa@ﬁfﬁﬁgoqam%a% | afe ﬁ@BWPETﬁHﬁWﬁ‘(@T%,a‘rxaﬂm
Eickaised
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14. In the figure given below, if I|jm and p, q are transversals, find the value of x+¥. 1
%9 & g agia §, A< [f|m I p, o i T €, @ x +1 1 T 6 HIC
1
m
15. Find the total surface area of a cuboid of length 6 cm, breadth 3 cm and height 2 cm. 1
o T, T T ¢ A, SreE 3 AL T SR > AT T, T FA T &ABA A
FHifC |
2

16. The first term of an A.P. s 4 and common difference is —3. Find the sum of the first 20

terms of the A.P.

TF FHIW %mumw:&%ﬁnw&m ~3%1wqmﬁ%&ﬁ%9wz{1qﬁwﬁmm

HiTeTC |

17. Calculate the compound interest on T 15,625 for 1% yéars at 8% per annum, 2

compounded half yearly.

215,625 T 8% difEm X H %aéanamwmafmmmuﬁmﬁﬁm

e |
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18. In the figure given below, O is the mid point of AB and CD. Prove that AC=BD. 2

#\%eﬁ@aﬂﬁﬁ,‘(@@'ﬁmam@wnwﬁﬁo% | fag wifse f AC=BD.

A

[ o]

19. In the figure given below, the area of parallelogram ABCD is 40 cm?. If BC=8 cm,
find the altitude of parallelogram BCEF.

aﬁa@a@hﬁ,ma@ﬁaﬁw =7 S 40 o QAL 7 1 A BC=8 {1, @
Ui FgHS B@F%Qﬁmﬁaﬁrﬁaﬁm\

20. The co-ordinates of the mid point of a line segment are (2, 3). If the co-ordinates of one 2
of the end points of the segment are (5, 6), find the coordinates of the other end point.

ﬁt@r@‘@:%nmﬁg%ﬁﬁé‘m(m)%n Ife <8 T@Ee & & iq: fag % fAewi= (5, 6)
%,ﬁ@m:m%%wﬁﬁm

21. Find the perimeter and area of the sector of circle of radius 6 cm with central angle 2
210°.

ﬁ@ﬁm@%aﬂqﬁmﬁﬂammﬁﬁmsﬁsﬁﬁ.ﬁw%qﬁﬁww%ﬁﬂ
forgr = 1 210° §
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22. Prove that: 2

mmﬁ:

ST ARE €S A
1+sinA 1+sinA

23. If tan2A =cot (A —18°) where 2A is an acute angle, find the value of A. 2

a7 tan2A = cot (A —18°) STaifh 2A TH =T HIUI §, A A H1 T TG SIS |

24. If the data 8, 12, 15, x+2, x+4, 19, 21, 25 is written in ascending order of magnitude 2
and its median is 17, then find the value of x. '

afz afRe 8, 12,15, x+2, x+4,19, 51 25 ST ¥4 8 Y ¢ ¥ SR T WeEF 177, @
x %1 9 T SIS | : '

25. Construct a frequency distribution table from the following data : 2

fire1 aifrel A TF ARARAl S27 TR 1 T I :

Class/a1| Cumulative frequency/E=41 SRR
0-10 S
10 -20 i
20-30 24
30 - 40 5D
40 - 50 40

26. Solve the following system of linear equations graphically :
frfafed Yo T feE #i e b § 7 S
x+y=3;2x+3y=6

OR/I9aT
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[For visually impaired learners only]

[émwg&ﬁmﬁfdwaiﬁ%%q]

Solve the following System of linear €quations :

%mm@ﬁmﬁww:

27. Simplify the following into the lowest forp, -

4
ﬁ%f@aﬁmmﬁmﬁm:

x?—25 &

1310
1 S
2x° +15x+25

4x2 75

28.

295
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30.

31.

32

33.

[For visually impaired learners only]

[ sheret gite faerer farnfifei & fom |
Write the steps of construction, to construct a AABC in which AB+BC+CA =12 cm,
ZABC=60° and ZACB=45°.

AABC %1 T % AT, W1 % w2 fafay fe AB+BC + CA =12 3.5 ZABC=60°Td
ZACB=45°,

In a quadrilateral ABCD, AB||DC and AB=DC. Prove that ABCD is a parallelogram. 4
TF 9g4S ABCD H AB||DC 3R AB=DC. fag #if¢ fF ABCD T wHiR g 2

A person standing on the bank of a river observes that the angle of elevation of the top 4
of a tree standing on the opposite bank is 60°. When he moves 40 m away from the
bank, he finds the angle of elevation to be 30°. Find the width of the river.

T AR, 9T 6 T FR WG @ R, T F g R W et T ¥ Ry
ST FI 60° UM T | S 5 Al TR § 40 R 1 72 5w B, A Ve F R 5 o
FIU30° 8 ST | T T S I Fw |

Find the mean of the following data : 4
7= sl =1 =1ea 9@ Fifw -

Class/=f | Frequency/saRaT

120 - 130 2

130 - 140 8

140 - 150 12

150 - 160 20

160 -170 8
A pair of dice is thrown once. Find the probability of getting : 4

(i)  prime numbers on both the dice.
(i) a total of greater than 10.

mmwﬁa@:m%m%ﬁwﬁ%ﬁaﬁﬁmmﬁaﬂmmﬁM:
() <FE I R AT Y@ A
(i) I 9E B TS A 10 T AF B

52/08/1-211-A ] 11 (RN ATV © conta...




34.

35.

36.

3
The sum of two natural numbers is 12. If the sum of their reciprocals is 5 find the

numbers.

ammaﬁamﬁmz%iﬁﬁsﬂ%wq‘fmzﬂn % €, 9 =N 919 Hif

Prove that in a right angled triangle the square of the hypotenuse is equal to the sum of
the squares on the other two sides.

ﬁ@ﬁﬁqﬁw%wﬁﬁaaﬁ,ﬁwaﬁﬁﬂa‘r YSTET % = % 9N F TEE 2

A hollow right circular cylindrical Pipe is 21 cm long its external and internal diameters
are 14 cm and 10 cm respectively. Find the cost of the metal used to make the pipe at
the rate of ¥ 10 per cubic centimeters.

-00o0-
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